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Easy - 10
Medium - 13
Hard - 6 /1

1

Difficulty

Answer

All angles in the diagram are right angles, and the side lengths are provided in
centimeters. Keep in mind that the diagram is not to scale. What is the length of X in
centimeters?

1

A) 3
B) 4
Q)5
D) 6

M

B

Translated version: nyu luuxun wduyuan uazaueai il umdaausimms

Tsaandqunun il lgluldaiunnnsdou annugig X duwinlalumdosisufiumng

1

A) 3
B) 4




Q)5
D) 6

2

What is the remainder when 2024 + 2023 + 2022 + 2021 is divided by 57

A) 2
B) 3
C) 1
D)0

Translated version:

LARIAARAINNITNNT 2024 + 2023 + 2022 + 2021 soel 5 1iluvinle?
A) 2

B) 3

C)1

D)0

3

Evaluate the expression J X 5 — 4 + 5 X 2
A) 15
B) 31
C) 20
D) 52

Translated version:

aonatiinal I X S — 4+ 5 X2

A) 15
B) 31
C) 20
D) 52

4

X
1
2
3

A

Kenny made a multiplication table for the numbers from 1 to 4. What is a sum
of all the 16 numbers inside this table?

A) 64
B) 80
C) 100
D) 120

Translated version:




A wlN R X

dl o (<] o = % ZJ/ o QQI/ 1
bALUNIAITINNTATUATUNTUIAY 1 D94 wauanwassaaaienun 16 anuaulumnmeiidumnla

A) 64
B) 80
C) 100
D) 120

5

Which of the following can replace the A so that

2X3IX4X5XA= 240
A) 1
B) 2
C)3
D) 4

Translated version:
dalesalUia ursounsn A Tanaled

2X3IX4X5XA= 240
A) 1
B) 2
C)3
D) 4

If the numbers 1, 2, 3, 4, 5,6, 7, 8, 9, 10 are all multiplied together, how many
zeros are there at the end of the answer?

A) 1
B)2
C)3
D) 4

Translated version:

fnauan 1,2,3,4,5,6,7,8,9, 10 gnunangoiiuiiuns douingsesainauaziial
AR E1IINNATIFAY

A) 1

B) 2

C)3
D) 4

7

At most how many equilateral triangles can you make using 6 identical sticks?




A) 6
B) 10
C)8
D) 2

Translated version:

4 dl 3 1 v dl dl ¥ 1 Dd‘ S o 1
AosdNnsnadeglaumdeN i uvinldunngangUlne ldurialdmntiowiu 6 uis

A) 6
B) 10
C)8
D) 2

8

How many cubes are missing from a cuboid that has dimensions of 4 units x 4 units x 5
units?

J L L/

A) 10
B) 24
C) 20
D) 21

Translated version:

a

= 6o ' QII o‘d‘d a I | 1
Hgnunariauauinlanvnglilainnsegnunarmiiz 4 wuag x 4 wdae x 5 wdae




What is the minimum value of NANA? Given that the letters P,A,M,N represent different
digits from 0 to 9.

PAPA
+MAMA

NANA

A) 1212
B) 3030
C) 4242
D) 3434

Translated version:
Ay . . o o L e =
ANNUALNAALRY NANA Wuwinle AvuaTissnis P,AMN a1 laanwaAnmAINAuann 0 04

" PAPA
+MAMA

NANA

A) 1212
B) 3030
C) 4242
D) 3434




10

06:00 08:00 10:00 12:00 1400 16:00 18:00 20:00 22:00 24:.00
——0—0—0—0— 00— 00— —0—0——0—0—0—0—0—0—0

07:00 09:00 11:00 13:00 15:00 17:00 19:00 21:00 23:00

James arrives at the library at 09:45 in the morning and leaves at 12:10 in the afternoon.
How long did James spend at the library?

A) 2 hours 45 minutes

B) 2 hours 35 minutes

C) 2 hours 25 minutes

D) 2 hours 15 minutes

Translated version:

06:00 08:00 10:00 12:00 1400 16:00 18:00 20:00 22:00 24:.00
——0— 00— — 06— — 00— 00— — 00— —0—0—0—0—0—0—9

07:00 09:00 11:00 13:00 15:00 17:00 19:00 21:00 23:00

NN TINaIaNAa1 09:45 1. lupauidiuazaanaIniesayaai 12:10 w. lupaunanadu
wndldinaniivasauauuirle

A) 2 $2T114 45 17

B) 2 2131435 Wi

C) 2 $aluq 25 17

D) 2 dalug 15 w7

11

Find the last 2 digits of the following sum:
2+4+22+222+ ...+ 2222222222

A) 20
B) 44
C) 00
D) 02

Translated version:

AIMAAT 2 NANGATNEITaINALING 111U

2+22+222+ ... +2222222222

A) 20
B) 44
C) 00
D) 02

12

In a basket of fruits, there is a 1.5 kg watermelon, 300 g of apples, 250 g of bananas, and
200 g of grapes. What is the total weight of fruits in the basket?
A) 2150 g




B) 2200 g
C) 2250 g
D) 2300 g

Translated version:
Tupeninalsdiluvils Husslumin 1.5 Alaniu wethila 300 ndu nAde 250 N3N Laze§u 200

s dhuvinsuvesnalslunznididuminle
A) 2150 n3u
B) 2200 niu
C) 2250 niu

D) 2300 N3

13

Aisha has 3 baskets. There are 6,7 and 11 apples respectively in each basket. She wants to
distribute apples evenly to baskets. What will be the final number of apples in each basket?

A)8
B)9
C)7
D) 10

Translated version:
angnevinzniney 3 Tu HuethUaaeluusiaznznd1 6 wa, 7 wa uaz 11 4a AINATAL 159

paansnszanauathdaldlunznialivin o i Tungaudasnuuwetidaluwiaznznfraziy

winle

A) 8
B)9
C)7
D) 10

14

Alice is 14 years old, and her younger brother Ben is 8 years old. How old will Alice be when
Ben is 15 years old?

A) 20

B) 21

C) 22

D) 23

Translated version:

adne1e 14 U uasdasinsredanaaiuuany 8 I adsazangwinlaieiuwang 15 1
A) 20

B) 21

C) 22

D) 23

15

12 3 4__

How many sticks would you need to put under 7* column?

A) 15
B) 13
C) 19
D) 17

Translated version:




¥

AauseIN s liidmiua e luaedns 7 arusuwinle

A) 15
B) 13
C) 19
D) 17

16

Peeranat's birthday is on October 15th. Today is July 20th. How many days until Peeranat's
birthday?

A) 82

B) 90

C) 85

D) 87

Translated version:

o a =l o A [ Qi o da/v dl o a =l o =® al dlv
qummmwamgﬁmuw 15 ﬁl@’]ﬁﬂ\l AUUIUN 20 ﬂ?ﬂ{]qﬁﬁ\l ’]uLﬂWH@@W?m;ﬂ;f‘ﬂtﬂﬂMﬂﬂﬂQu
A) 82

B) 90

C)85

D) 87

17

There are 7 friends at a party. Each one shakes hands only once with each of the others.
How many handshakes are there in total?

A) 14

B) 28

C)42

D) 21

Translated version:

al dl 1 dl tﬂ’j 1 dl 1 o A o al ?:/ al o tﬂl al o A
NIWAUDY 7 AUVINITULALNINTLN WAAZAUALNANUNENANLALINLAUDY 7] INAL AN1TALND
2NINNAN AT

A) 14

B) 28

C) 42
D) 21

18

Pedro went to the cinema to watch "Animal Adventure" animated movie. The movie started

gt 18:25 and ended :;1t3)0:40.)|:|ow much time did Pedro spend to watch the movie?
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2 ¥
= ° 0
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A =Kb »
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18:285 20:40
L] L]
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

A) 1 hour 55 minutes

B) 2 hours 15 minutes
C) 2 hours 25 minutes
D) 2 hours 35 minutes




Translated version:
winslilsaninaunsinegnineunfuatiuguEe "Animal Adventure” NMWELATHENAENAN

18:25 . UazaUA1 20:40 w. winsldinanlunisgninausiunuminle
% g ' \
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2, Ze>
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Ay
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AQ® .
18:25 20:40

A) 1 dqTua 55 w1
B) 2 dalug 15 w7
C) 2 Galag 25 w1

D) 2 F2Tu4 35 W17

19

Zack’s age is twice Alice’s age today. After 33 years Zack will be 10 years older than Alice.
What is Zack’s age today?

A) 10 years

B) 40 years

C) 30 years

D) 20 years

Translated version:
% dgj 1 a al £ % = | a
fmumﬂqm@\ummﬂum\‘iLﬂﬁmﬂq@ﬂqm@a@@% Tuan 33 ddeutin WiARzHangiINNINaat 10 7

o X !
qumvﬁmmqmﬂm

A) 101

=)

B) 40

)}

C) 30
D) 20 {

20

How many faces does this 3D cone have?

A) 2




B)3
C)4
D)5

Translated version:
Qaasljddl %
N3¢ 3 WAUNNUUN

A)2
B)3
C)4
D)5

21

We have six numbers: 4, 5, 6, 7, 8, and 9. We need to put each of these numbers into a
circle, using each number only once, so that the total of the numbers on each side adds up
to 18. What is the smallest number that can go inside the middle circles?

A) 4
B)5
C)6
D)7

Translated version:
= o 1 o = v 1 o 1 l;/
LIINAUIUAYUNAUIUAR 4, 5, 6, 7, 8 LAz 9 L3IABINITIN A LA UIUANUAS Manan Inel

FupazanuuieeAsanga a1 e Mmuaada i uluLsasm UMWl 18 auunan

4 . o
nganauinldadlusnannsanaspeaI ol




A) 4
B)5
C)6
D)7

22

What is the perimeter of the board, with 2 m length and 120 cm width?

2 m

120 cm

A)3 m20cm
B)4 m40cm
C)6 m40cm
D)8 m

Translated version:
Ausa1s1laa9nIzA N NAINENT 2 1. uazAINNGIe 120 93, enawinle

2 m

120 cm

A) 3 4. 20 .




B) 4 . 40 4.
C) 6 N. 40 T3,
D) 8 4.

23

What is the area of the triangle?

A) 18
B) 36
C) 16
D) 24

Translated version:

¥ 1
=l

4 4 o d .
Nuneagaumasungnuseiuminle

A) 18
B) 36
C) 16

24




In the figure below, which of the following can replace the question mark?

K
N

VL 4

C)3
D) 4

Translated version:

Tugiduans dalasieiltdasnsoumuiesesnnnamniuls

al [ €
|
Al [N

Y L 4

A) 1




B)2
C)3
D) 4

25

If Alex is 14th from the front and 18th from the back in a queue, how many people are there
in the queue?

A) 30

B) 31

C) 32

D) 33

Translated version:

TuunoAauile alandagpnumen 14 andrantiuazatiiiumisi 18 anfunas daustfluung
- A

AdTNAL

A) 30

B) 31

C) 32
D) 33

26

What is the total number of acute and right angles in the figure?
A)6
B)5

D)3

Translated version:
v

yuuaNuazyRanlugn mtsaisudaia wwminle




A) 6
B)5
C)4
D)3

27

This pictogram shows how many apples some children have picked. Mia picked 40 apples.
How many apples did Hao pick?

Mia
Ron

Sero
Hao

A) 30
B) 3

C)18
D) 24

Translated version:
wenn Rl niuanssuanuetdanian < nquuiiaivld Mia iiuueiidlals 40 na Hao ifiu

ualidalanug




Mia
Ron

Sero
Hao

A) 30
B)3
C) 18
D) 24

28

16 cm | 12 cm ' 16 cm

There are three identical semicircles in the picture. Using the distances provided in the
diagram, determine the diameter of the semicircle.

A)32cm

B) 24 cm

C)20cm

D) 18 cm

Translated version:

16 cm | 12 cm ' 16 cm

ﬁm?'mqmuﬁmﬁ@uﬁummgﬂiugﬂmwﬁ mmm’mmqmmLz%’uthu@uﬂ‘mmﬂéqqm@uﬁimﬂsﬁ
sxeeyan 1A e N

A) 32 3.

B) 24 .

C) 20 1.

D) 18 .
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In the following figure, which number can replace the question mark?

+ +

A) 20
B) 16
C) 24
D) 18

+ =11

Translated version:

Tuginwsallil ArwanlasuisaunuiiasasnaAinIn e




+ +

A) 20
B) 16
C) 24
D) 18

30

In the picture, there are two dice stacked on top of each other. How many dots are hidden
from view?

Note: A dice is a small cube with dots on its sides. Each side has a different number of dots
from 1 to 6. People use it in games by rolling it to get a random number of dots.

A) 20
B) 22
C)24




D) 28

Translated version:

1
a 1

Tugilnaw Hgnishassgnanedauiuet arusuqangndeauliainnisueciuiiagvinle

VNG QNIANABNLIATQNLAN 7] NNAALUWARTAIN UAAZAMUNAIUINGANUANGINAUATN
= v 3 + 1 dl ¥ !

1 196 Hruldgnisilunisiauinuisaniasiie W ldunnaiaaguandqn

A) 20

B) 22

C) 24
D) 28




